





. #B. The maximum cwment that can be
| measured by a galvanometer of resistance
4002 is 10 mA. It is converted into a
voltmeter that can read upto 50 V. The
resistance ro be connected in series with

the galvanometer (in ohms) is

..... (b) 4050

() 5040 (d) 4960
17. For a given velocity, a projectile has the
same range R far two anglesof projection if
ty and't, are the time of flight in the two

cases, then

1
(€] frts = e

(b) tify =R

1

18, A sample of ideal monoatomic gas is taken
round the ecycle ABCA as shown in the
figure. The work dene during the cycle is

4 B (4p, 3Y)

!

-1
(ay 3 pv (b) zero
{c) 9pV (d) 6 pV

19 A sound source is moving towards
Stationary listener with i%ﬁth-.oﬁ the speed of
sound. The ratio of apparent to real

frequency is ’
o (R e LTI [ S [11]
l 1| — ¢y — (d) | —

4 (mJ Sl 50 1 3n

. A sarellite is in a circular orbit round the
~ tarth @ ap altitude R above the eamh's
mrfaes, where R is the madius of the earth.
ALy 18 the accelerarion due to gravity on the

TR ey SR e RN LG e N I v

21. A 10 lfg ‘Stone is suspended with a rope of
b{__r.e-__akmg strength 30 kgewt. The minimum
time in which the stone can be raised
thrio’u'gh aheight 10 m starting from rest is
(Taking g = 10Mkg )

(@) 0,55 (h) 1.0s

2
(c) J;S (d) 2:0n

22, iflow myuch werk must be done by a force
on 50 kg body in order ¢ accelzrare it from
restto 20 m/s in 10 s?

(a) 107 J (b) 10* J
(©) 2x 1077 (d) 4x10% 2
23. A and B are o metals  with

thresheld frequencies 1.8 # 10 Hz and
2.2x10" Hz Two identical photons of
energy0.825 eV each are incident on them,
Then photoelectrons are emitted by
(Taking h = 6.6 x 107" J-5)
(a) Balone
(h) Aalone
lc) Neither A nor B
(d) Both A and B

24. The square of resultant of two equal forces
is three times their product. Angle between
thie forces is

By ©
(b) 7=

25. An object placed on a ground is in stable
equilibrium. If the objects is given a slight
push, then initially the position of centre of
gravity
(a) moves nearer Lo ground
(b) rises higher ahove the ground
(c) remains ag such
{d) may remain at same leve|

26. The maximum height amained by 3
projectile when thrown ar an angle 8 with
the horizontal is lbund 0 be half the
horizontl range. Then, 8 Is equal to

(ad (¢) 3 (d) E

(a) tan ' (2) (b?% |
) " |
(e -:—: (dy end ; ' "
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21, Rs"&u‘ﬁfﬁﬁﬁkzmkgm r&ac eplodes ko v ) .
ffagmeﬁm ‘whose' masses are in thi kgl : rimary, (. |,
ﬁanw2 i Tﬁe smaller i1 ! T Be will b
with a velocity of 6 ms. ' g
&nergy of the [arger
(a) 964
'(cD 144.}

(C) laxadfs\.” cad/:
B s somagiie i e
araund tahe aun?
tb’[’% Hﬂﬁ?&t mgmanmm 6. If k atfive
(b mm : : ;I kiﬂ@nﬁ,@n&m O S ﬂu l &)
(d) %eﬁegnesgy A . ?a.f elcombin
30. In non-elastic collis
(a*?f mﬁm&ntmﬁ is conserved
(b) energy is conserved
(e) mﬂsnénium and energy are

(d) mome: ~_and e!ﬂ?‘ :

.LL; JCTORS resann
n haten

“ [lllﬂ[ v
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39. The rawe at which a black body emits

meand charge < is broog he orig i
St temperamrer is proportional 5 is brotght te the omgm and

to given a small displacemenr along rhe
@ 1 ®) T x-axis, then |
' , (a} the particle executes oscillatory monon
() T3 @@ T (b)the particle remains stationary
40. Two equal charges g are kept fixed ataand {¢) the particle executes, SHM along x-axis

e eaxis. A particle of mass {d) the particle executes SHIM along y-axis

Chemistry

41. The ionic conductanee of Ba?* §nd Cl” are (a) Mgq(POy), (b)) BaCl,
respectively 127 and 7607 em® at (¢) NaCl (d) BCN
infinite  diluton. . Thg: .equ-walen; 46. Identify ‘C' in the following reaction;
conductance (in @ “) of BaCl, at NO;
infinite dilution willbe \

(a) 330 (b) 203 O S/HG) , Ny NaNEls
(c) 139.5 (d) 51 N

4 if the elevation in boiling point of a (a) benzamide (b) benzoicacid
solution of 10g of solute (mol. wt. = 100) (e) chlorobenzene  (d) aniline
in 100g of water is AT;, the ebullinscopic 47, The following reaction is known as
eonstant of water is ONa -

ﬁTb P :
(a) —> (b) ATy
_+G0
(€} wm- (d) 100 AT, 1%—1 : <

G Guentay ox
H.O()—> H* (ag) + OH" (ag); - L ceoH
Haf LT SO0 S
H&Qg)+§@3(gJ kit (2) Friedel-Craft reaction

Then calculate the enthalpy of formation () Reimer-Tiemans seistian

BFOH" at 25°C. (d) Wittig reactivn

'&1"12&31‘3 (b) -~ 343:52 kJ 48, Which of the following ks mpelectonic of
(c) + 228.8 kJ (d) + 343.52°kJ carbon?

M. Calculate the amount of heatevolyed when (@) Na®UMYART (a0 (d) N
mﬁs of 0.1 MHCis mixed with 200 cm® 48: In which of the following species only ane
n,m Na(yH. type of hybridisation is present?
Am) 57.3 ks (b) 2,865 kJ (8) CH , —CH ,—CH=CH
w2202l (d) 0.573 kJ () Gy — CH—CH—CH,
- Which of the follawing will be the most () GH y==Cli—CH=CF,
eCTIve in of Fe(OH) 4 sol? (d) CH, —CH==CH—CH
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he muin ﬁtﬁdﬁnt when
¢ich hipochloraus acid?

(3 vﬁCeflaJdbhya - A
{c) Richloro aceta
(d) Chloro ace
B tita hasa ﬂm penavskue
= mqr.qﬁ%mﬁwﬁwuh Ba*" ions
mnhg.mmmnﬂhgmmﬁﬁeﬂ, oxide ions at
ﬂw fa@& centres and titanium ions at the
| re. The molscular formula of

@) Ba!F{@a. “5 fﬁ”ﬂmé
() BaTiO, (d) BaTiO
66. Which of the fdjitﬁmng hormone, is
responsilile for the growth of
{a) Auxin
(¢) Adrena ‘E_" nﬁﬂ? gematur.mpm
6. Wh}gb af‘ athe flgwmg have the larzest

it m}ﬁ;@ ; :
{ﬁ i '@3 () Na' (d) My

di @feﬁf "'l,""’é%ﬁ;hm what will e

(b)0.36 A
(d)0.59 A
llowing will have highest

;" ‘-‘L “.b:lﬂi‘ll " X .a‘ll'.
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72. What will be the volume oF Qs ar NTP
libecated by 5 A ourreny Howing Fc:r 193 &
throagh amduuu'd wilter ?

(a) 56 mL () 112 mi
(¢) 158 mlL (d) 855 ml.

1. €O, goes to air, causes green house afferc

and gets dissolved in water, Whar will be
the effect on soil fertility and pH of the
water?

(aj Increase

(¢) Remain same

(b) Decrease
(d) Nane of these

If?qp EN'QOQ L 4Nﬂz H 01

If rate and rate constant for above reaction

are 2:40 %107 mol L' 57 and

3x10% s T respecrively, then calculare
the concentration of NaO ..

(2) 1.4 (b1 1.2  (c)0.04 (d) 08

75. The molecule BF, and NE; both are
eavalent compounds, but BE, 15 non-polar
and NI 15 polar The reasan is thay

(o) baron is a matal and nitrozen is a gas in
unenmbined soare.

() BE, Bonds have no dipole moment
whereas NEy bond have dipale
mement. |

(€) utamic size of bovon is smaller thaw that
of nitragen.

() BE, 18 symmerrictl melecle whereas
NF; Is unsymmetricil,

76. 1.2% NuCl solution & isotonie with 7-2%

sluease salution. What will be the van't
Half factor, ()
() 0.5

. .‘
@1‘3 - ';“.%-G- -
Gm vl dlu

M- ouy slphare
tt"rb 1 .-" 1|I o :
I Ii IJ] f: . ‘?1 ti N
.l‘T. " e
"n.'a.....il'

‘_| L .I'Il| » q \ I':J.t n K
vy ] 1

. 4 4
A8 M |,|I 1| 1

e






i, or. o 5 , oLt ‘North
41, When Indians from the Seuth move North,
they find certain aspects of life quite ......

from their owil. .
(a) serange (b)separate
(¢) different (d) divergent
92, Thesk)f 150"?&!'(!351} we rn.’.'.!ur'lhé storm will
~ soon burst, e
(a)expect (b) hope
(c) trust (d) suspeet

0. Nos. 93 t0:95) The first and
S,i:e;g:(;gsﬁs._-g;?rm:Mtgnce-gﬁ-n_umbered 1 to 6.
The rest of the sentence f;spglr':;?tgfau-r parts ancf
named P, @, R and S. These four parts are not
gwen irt their proper order. Read rhg.-parts qnd Rnd
out which of the four combinations is correct. Then

find the correct answer.
83, 1. Early toibed, early to rise, makes:a man

healthy, wealthy and wise.

P. But for the moming tea, [ had to wait
for someone 1o get up before me,

@. Thissaying inspired me to rise early.

R. That day1was the first to ger up.

S. Oneday | gotup early in the morning,

6. Then I realised that it was a waste of

tme to get up, early and wait for the

MOIng tea.

Logical Reasoning

%. In & cervin code MONKEY is XDJMNL.

How is "TIGER’ written as?
(a) QDFHS (b) SDEHS
(c] SHFD (d) UJHFS

9, Hind the missing number from the given

T AR 190 13 4B

L

228
(1) 229
(d) 312

94,

95,

BITSAT » Soied Papsn 2012 i g

(a) OSRP (b) QIFRS

c) PORS (d) SPOR

1. A wood-curter was cutting & ree on a
river bank,

P. ‘He knelt down and prayed

Q. His axe slipped and fell into rthe water

R. God'Meretiry appeared before litm and
asked about the marter.

S: He could not ger it back as the river was
yery deep.

6. He dived into the water and cams up

with anaxe of good.

(a) RPQS (b) RPSO

(¢) QSRE (d) QSER

1. Adogsrole a piece of meat from a
butcher's shop.

P: He barked in anger.

Q. He ran to the jungle with the piece of
mEar,

R. He saw his reflecrion.

S. He'erossed a river on the way.

6. He'lost his piece of meat.

(a) QPSR

B SRP

(¢ QIPRS:

\d} SRPO

If the day before yesterdiay vws Thurdsy,
when will Sunday be?

(a) tomorrow

(b)day-after tomorrow

(c) today

(d) twodays after today

In a row of children Ravi & fowrth from
vight and Shysm s second from left, When
they incercfmmge posinons Ravi is ninth
from right, What will be Shyam posirfian
trom left?

(&) Mith (b)) Sixth
() Seventh (d) Eighth
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102. “All the members of the Tennis club are
members: of the badminton club too”. No
woman plays badminton?

(a) Some women play Tennis:

(b)No member of the Tennis club plays
badminton

{c) Some women are members of the
‘Tennis club

(d) No woman is a member of Tennis club

Mathematics .

106. The equation of the base BC of an
equilateral AABC is x+y =2 and A is
(2, -1). The length of the side of the

triangle is

a4
(@2 ®) (g-)
(12 ()
o o

107. The equation of the circle circumseribing
the triangle formed by the lines x + y =6,
2x 4 y =dand x + 2y =515
(a)x* + y* +17%+ 19y - 50=0
(byx® + y* —=17x - 19y - 50=0
(cla” + y? +17x =19y = 50=0
(e +y° —17x =19y +50=0

103, Wisidh fmber is Wrong i the given sr,,
v Iu :91 '25\ Bol '.a.l'” “ :
1 the following guestion and A stand. |
any of the Mathematical Signs at diffe.,
places; which are givenas chotgés under &,
question. Select the ghoice with the o
sequence of signs which when substin-.
makes the question as famrect equa ton?
. 24A4A544
(@) x+= (b) = % +
(c) + X = d) =+ x
105. Which answer figure is the exact mir
image of the given figure when the miro:
held front the mghs at PQ 7

fd) &)

104.

0
Answer Figures
IR
@ ® @ @

108. The length of the tangent from (5, 1) o the
girele x* + ¥* + 6x - 4y — 3 = 0is
(a) 7
(b)49
(c) 63
(d) 21
109. If the length of the miajor axis af the ellipse

o L
(_) + (—-] = 1'is three fimes the length

= "
of minor axis, its eceentricity is
1 !
(a] - (b —
> 1g ) J3

@ =3

o
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117, The vecror equition
r=i-2j - k+ribj-k

represents a smaighe line passing fhrough
the peints

(a)(0, 6, — 1) amel (1, = 2, = 1}
1(b)(0, 6, ~1) and (=1, — < = 2)

(€)1, -2 —1)and (1, 4 - 2)

(d)(1,— 2 —1)and (0, - & 1)

118. The work done by the foree 41 — 3j + 2k in
moving a particle along a straight line from
the pmm:'(:a,‘ 2 -Dw(Z-14)0
(a) Oumits b) 4 units

&) 15 units (d) 19 units
119, l u[(2+ x)sinf2 + ¥) = Emn 2] Sl
X ]

o
@1 Ly
1200 I f(=) = Eﬁ"%"—f is tontinuous at
x =0, then f{0¥is equal 1o
Ja i (W2 w4 @0

121, 11 s measured in degre, m{;@mxm







138. The sum of n rerms of the series

139, 0.2+ 0.22+4 0.222 +...
o

140.

1.

DS A e

+4+8 16 ;
(@n-1+2" (b) 1
Bt @1+2"

to'n terms is equal

(a)() [821](1 _10™)

b)n — (5] (1-10"")
(c)[—g-)[n - (%J(l =307 J]
(@ [g]

The number of ways in which a team of
11 playerscan be selected from 22 players
including 2 of them and excluding 4 of
them is

(a) "°Cyy (b) *°Cs

The number of ways four boys can be
seated around a round table in four chairs
of different colours is

(2)24 (b) 12

(€)23 (d) 64

142, If thie coefficient of second, third and fourth

terms in the expansion of (1 + x)™ are in
AP, then n is equal to

(a) 7 (b) 4 o5 (d) 6
143, IF
RS 6%
A=11 b b?|=ka-B)(b-c)lc—a),
1 ¢ 2
then kis equal o~
(a)~2 (b1
2 () abe
d«b ¢ b
| 0 ase ¢ |isequalto
b ¢ b
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{a) 4abe (b) abe
(c)a®b?c? (d) 4a”he
x a b ’
145. If Ay =|b x a|and A, = » are fthe
L B X e

given determinants, then
(@)A, = 3(332'}&

(b)[i] (A7) =344

(C)[d.x] (A;) = 3(4,)>
(A, = 3(4,)7*

146. The system
X+4y —22=3,3x+y+5z2=7
and 2x + 3y + z = 5has
(a) infinite number of sohitions
(b) unique selution
(c) trivial solution
(d)no;solution
If the three points (k, 2k), (2K, 3k), (3, 1)
are collinear, then k is equal to
()=-2 (b)1

1 1
= o
(t-J2 (d) 5

147.

148, The foot of the perpendicular from the
point (3, 4) on the line 3x — 4y + 5= 0is

(81 92 92" 81
wigea]  ®E2

46 54 gl g2
()(2_6 2—4) -3 )

149. A kite is flying at aninclination of 60" with

the horizontal. If the length of the thisad is
120 'm, then the height of the kite i

(a) 60J‘ 3Im (b) 60'm
ft:) T (¢ 120 m

150. 1f the focus of parabalba s at (O — 3)and its
directris & y = 3 then (ts equartion is
la)x® = - 13y () = 12y
(e)y™ = - 12y (y' =12

Wwww.examrace.com
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